Best model for HELP J114737.606+003027.838 at z = 0.971 x2=1.95
OPTx2=1.69 IRY?=4.0 threshold (OPT IR)=15.77 [um]

] Stellar attenuated
102 i Stellar unattenuated
E —— Dust emission
i —— AGN emission
101 E = Model spectrum
E ® Model fluxes
1 M oObserved fluxes
— 100 -
= ]
S
1071 4
X E . .
2 :“?ﬁ\"""‘\-r“_ At “\(l
u- N <)
1072 5
1073 4
X
3074 4
Y— 1 3
= ] ==f=(Obs-Mod)/Obs
S ]
S
n
] 0 N N o B S S ———— e ————————————————
o ]
g ]
S ]
r_u—]_ i T — T — Ty T
o 10° 10° 102 103 10* 10

Observed wavelength [um]



